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QUESTION 1

In which two ways does Oracle Cloud Infrastructure (OCI) file storage (FSS) differ from OCI object storage and block
volume services? (Choose two.) 

A. Block volume service is NVMe based, while FSS is not 

B. Object storage and block volume services offer default encryption, but FSS does not 

C. A file system is created within an availability domain, whereas object storage buckets exist at the region level 

D. FSS uses the network file system (NFS) protocol, whereas block volume uses iSCSI 

Correct Answer: CD 

 

 

QUESTION 2

Which two statements about the Oracle File Storage Service (FSS) Security are accurate? (Choose two.) 

A. Oracle IAM controls which filesystems are mountable by which instances. 

B. Security lists can be used as a virtual firewall to prevent an instance from mounting an FSS mount target within a
subnet. 

C. Encryption of file storage in FSS is optional. 

D. Data in transit to an FSS mount target is encrypted. 

E. FSS leverages UNIX user group and permission checking for file access security. 

Correct Answer: DE 

All data is encrypted at rest. and In-transit encryption provides a way to secure your data between instances and
mounted file systems using TLS v. 1.2 (Transport Layer Security) encryption. File Storage service supports the
AUTH_UNIX style of authentication and permission checking for remote NFS client requests. 

 

QUESTION 3

Your company is developing a new database application in Oracle Cloud Infrastructure. You need to test application
functionality including a hardware failure scenario. Since the application is still in the development phase, you want to
minimize infrastructure costs. 

Which database service deployment option meets this requirement? 

A. two node real application cluster (RAC) system 

B. Autonomous Data Warehouse (ADW) system as it provides auto fail over functionality 

C. two node bare metal system with data guard enabled 
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D. single node bare metal system 

Correct Answer: A 

 

 

QUESTION 4

You are responsible for creating and maintaining an enterprise application that consists of multiple storage volumes
across multiple instances. The storage volumes include boot volumes and block volumes for your data storage. You
need to create backups of these storage volumes in the most time-efficient manner. 

How can you meet this requirement? 

A. You can create clones of storage volumes one at a time 

B. You can group together multiple storage volumes in a volume group and create volume group backups 

C. You can create on-demand one-off backups of boot volumes, but not block volumes 

D. You can create on-demand one-off backups of block volumes, but not boot volumes 

Correct Answer: B 

 

QUESTION 5

What does Terraform use to create, manage, and manipulate infrastructure resources? 

A. resources 

B. provisioner 

C. instances 

D. provider 

Correct Answer: D 

The Oracle Cloud Infrastructure provider is used to interact with the many resources supported by the Oracle Cloud
Infrastructure. The provider needs to be configured with credentials for the Oracle Cloud Infrastructure account. 
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